4y s2 e =4 =Has aa [same] MEET | SFEE |gema| wm
1A 2A1Q 3AIY 42| 162 8% 4z #S 9129l 39| -+HEH+
2d&J| |CLASS-10 8 5 5500
058 | CLASS-10 2 5 1000
i@l | CLASS-10 2 5 1000
0l8%& | CLASS-10 0 5 0
d8& | CLASS-10 2 5 1000
d7E | CLASS-10 7 5 4500
grAI&E  CLASS-10 3 5 1500
=58 | CLASS-10 2 5 1000
OI¥XH | CLASS-10 1 5 500
0l&% | CLASS-10 0 5 0
BH0IE | CLASS-10 6 5 3500
&2 | CLASS-10 4 5 2000
UH&EE | CLASS-10 0 5 0
Mels [CLASS-10 1 5 500
AHS CLASS-10 2 5 1000
2 & | CLASS-10 4 5 2000
x&EE | CLASS-10 3 5 1500
=ekd  [CLASS-10 0 5 0
d2=+ |CLASS-10 1 5 500
759 | CLASS-10 5 5 3000
=8 | CLASS-10 0 5 0
or201 | CLASS-10 1 5 500
=g | CLASS-10 2 5 1000
2=& [CLASS-10 4 5 2000
#&& | CLASS-10 2 5 1000
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2018 MR FOIQUEtT SEMSALY3
('E,Fxl- CLASS-8)

J CREE = Eqd 2 |oams] OEET
AY 242 3AY 4AY| 162 8z 4z \ae o 29 39

d&& CLASS-8 1 1 1 1 1 1 1 1 8 5 15

X&&t | CLASS-8 0 5

== CLASS-8 1 1 5

&olE | CLASS-8 1 1 1 1 4 5

ot &l CLASS-8 1 1 1 3 5

283 | CLASS-8 1 1 1 1 1 1 1 7 5 10

adrE CLASS-8 1 1 1 1 4 5

0l=3] | CLASS-8 1 1 2 5

445 | CLASS-8 1 1 5

2% | CLASS-8 0 5

2 | CLASS-8 0 5

23Y | CLASS-8 1 1 1 1 4 5

2A&= | CLASS-8 1 1 2 5

74<% | CLASS-8 0 5

2 EH CLASS-8 1 1 2 5

22t | CLASS-8 1 1 1 1 1 5 5 5

PSS CLASS-8 0 5

8tE35| | CLASS-8 1 1 5

MEE CLASS-8 1 1 1 3 5

F&H | CLASS-8 1 1 1 1 1 5 5 5

Al CLASS-8 1 1 5

gtds | CLASS-8 0 5
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(‘2 X} CLASS

-9)

Mzl EA‘I LHHE CEXH A AAKE T
2% M® | 53 N =l sa |sams]| MEST ST o= | sEs | wA
1A 241 3AY 4AY sAA| a2 72 9 29 FHEES
=5 Ol & CLASS-9 1 1 1 1 1 1 6 5 15 45 100 4500
o= x2S CLASS-9 1 1 1 1 4 5 10 30 100 3000
37| Aol CLASS-9 1 1 2 5 10 100 1000
=Pl s CLASS-9 0 5 0 100 0
a= F8tet CLASS-9 1 1 5 5 100 500
M= X &A CLASS-9 1 1 1 1 4 5 25 100 2500
27| HaZ CLASS-9 1 1 1 1 4 5 25 100 2500
A2 Alal A CLASS-9 1 1 1 1 4 5 20 100 2000
a= 0] & & CLASS-9 0 5 0 100 0
M= o= CLASS-9 0 5 0 100 0
= gk & CLASS-9 1 1 2 5 10 100 1000
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2018 M=ol et SO
(&t DF)

ollH2| 1 AL |lEa™A MIEE ST'Se W EIESES HA|

1A 271 3AY 4AY 5AY eAY| T [°TT T 19 29 39| +mEHS .
1 1 1 1 1 5 5 15 40 100 4000
1 1 1 1 1 5 5 10 35 100 3500
1 1 2 5 10 100 1000
N2 1 1 1 1 4 5 5 25 100 2500
== 1 1 1 3 5 15 100 1500
a5 0 5 0 100 0
4= 1 1 5 5 100 500




as  my sz | EER L lsama] MEET | TSR | gema| wa
1A 2AH1Y 191 29| 39| +HEHEF

=o | Ass OS] 1 5 5 100 500

= dug | CASSTL 1 5 10 15 100 1500

S a0 CL;“SQS‘ 1 1 2 5 15 25 100 2500




2018 M= Zofj QIEF T SetM ALz
(0] X} CLASS-3)

as gy sz | EER s lsama] MEET | TSR | gema| wa
1A 241 gl 29l 39| -+HIEgHEs

20| kel CLASS-3 1 1 2 5 15 25 100 2500

=yl a2z CLASS-3 1 1 5 10 15 100 1500

== otazd CLASS-3 0 5 0 100 0




N 2018 M=ol et SO

(4 X} CLASS

1
N’

24 49 s3 e aa |same] MEET | SFEE |gems| wm
1712 271 3A2 4% SAY 6Ale 19 290 39| smmms

N2 EPNE= CLASS-4 1 1 1 1 1 5 5 10 35 100 3500
3= A0 CLASS-4 1 1 1 1 1 1 6 5 15 45 100 4500
3| orpls CLASS-4 1 1 1 3 5 15 100 1500
s 223 | CLASS-4 1 1 1 3 5 15 100 1500
3| =201& CLASS-4 0 5 0 100 0

3= 262 | CLASS-4 1 1 1 3 5 5 20 100 2000
3| o= CLASS-4 1 1 5 5 100 500




2018 M= Zofj QIEF T SetM ALz
(0{ X} CLASS-5)

Mgl = . P AAFE
2%  4Y 53 o= aa |same| TEET S e | oEES | wA
171 272 3AY 479 o 29 39| +mzEs
B Z2l&E | CLASS-5 1 1 1 1 4 5 15 35 100 3500
N2 M0OlIZ | CLASS-5 1 1 1 3 5 10 25 100 2500
= &35 | CLASS-5 1 1 5 5 100 500
=Pl gg= | CLASS-5 1 1 5 5 15 100 1500
20| OlAst | CLASS-5 0 5 0 100 0




2018 X2 XH0f| QI EFL -’éé.* MaAC 3|

as gy sz | EER s lsama] MEET | TSR | gema| wa
1712 2712 o 29 39| +mimms

= o=2< CLASS-6 1 1 2 5 15 25 100 2500

=yl ¥2= | CLASS-6 1 1 5 10 15 100 1500

3| 358 CLASS-6 0 5 0 100 0




2018 Mol QIEIT FSetMTHI| 2
(0§ X} CLASS-7)

Mgl BM ELHHE EFX] 2 AAXE
24 49 s3 e EHEHER an [same] JTEET | SFEE |gems| wm

| =] A

1A 279 3AIY 47lgd| 42 HS 19 29l 39| -+m=HEs
o= or&= | CLASS-7 1 1 1 1 4 5 5 25 100 2500
=y 20/8  CLASS-7 1 1 2 5 10 100 1000
M= M3td | CLASS-7 1 1 1 3 5 5 20 100 2000
=N Ol8Xt+ | CLASS-7 1 1 5 5 100 500
20| Z&3l | CLASS-7 0 5 0 100 0
=y Z2E3  CLASS-7 1 1 1 1 1 5 5 15 40 100 4000
g 243 | CLASS-7 1 1 1 3 5 10 25 100 2500
a5 Z&23 | CLASS-7 1 1 5 5 100 500
M= st&0l | CLASS-7 0 5 0 100 0
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2018 M= Zofj QIEF T SetM ALz
(0] X} CLASS

1
N’

A CFXH A AAXE 1

4y s2 e aa |same] MEET | SFEE |gems| wm
1712 271 3A2 4% SAY 6Al o 29 39| +mizms

2 2ol CLASS-9 1 1 1 1 1 5 5 15 40 100 4000

x=& | CLASS-9 1 1 1 1 4 5 5 25 100 2500

01d= CLASS-9 1 1 1 1 4 5 10 30 100 3000

HII& | CLASS-9 1 1 1 1 4 5 5 25 100 2500

22 0H CLASS-9 1 1 2 5 10 100 1000

ZI83 CLASS-9 1 1 5 5 100 500

20| et CLASS-9 1 1 5 5 100 500




2018 MIAFOfQIEHT 5
(X} CLASS

1

=o oz a =8 EH/HE an oo

SE 1A 2mg 3x| 42 =z | °T7 |°FF
CLASS-10 1 1 1 1 1 5 5
CLASS-10 1 ] 5
CLASS-10 1 1 5
CLASS-10 1 ] 5
CLASS-10 1 1 1 1 4 5
CLASS-10 1 1 5 5
CLASS-10 0 5
CLASS-10 1 ] 5
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s g9 =3 A== EHEHESL L |eans] MEET s¥52 | pama | ay
1A 24 A A sAe| 4z ma o 29 37| +mzma
M3 CLASS-11 1 1 1 1 1 1 6 5 15 45 100 4500
ALFGH | CLASS-11 1 1 1 1 4 5 10 30 100 3000
BFAE  CLASS-11 1 1 5 5 100 500
290l CLASS-11 1 1 2 5 10 100 1000
2 Xl CLASS-11 0 5 0 100 0
2AE CLASS-11 1 1 1 3 5 15 100 1500
strel CLASS-11 1 1 1 1 4 5 5 25 100 2500
4 | CLASS-11 1 1 1 1 1 5 5 5 30 100 3000
248 | CLASS-11 1 1 2 5 10 100 1000
SYel  CLASS-11 1 1 5 5 100 500
CLASS-11 0 5 0 100 0
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